LaaAMPION

Power & force

MI'IJ'II-OCTpVIpOBaHHbIﬁ KaTasor 3aMacHbIX YacTen

Mogenb: 362

Ne ApTURYN HaumeHoBaHuWe Keo| No ApPTURYN HanumeHoBaHune K-80
1 04040401010 laika M5 2 22 | 0404010401110 | Bont M5x50 2
2 0404010402303 | bont M5x12 2 23 | 040307045 Kapbtopatop 1
3 04060901003 Fnywutens 1 24 | 040206005 Hanpasnsatowasn suHta T 1
4 04060307002 MpoKknagka rnywurens 1 25 | 040608001 MMnb3a KoseHa KapbtopaTopa 1
5 04040102002 bonT KpenneHusa rnywmntena M5x85 2 26 | 040136001 MpoKnagKa noa Kapbropatop 1
6 0404010402357 | bont M5x20 4 27 | 04060302001 MpoknazKa nog Kapbtopatop 1
7 L7T CBeya 3aXkuraHma 1 28 | 04060304001 Mpoknagka rennonsonatopa 1
8 040313063 Unnnuap 48 mm 1 29 | 0404010402303 | bont M5x12 2
9 04060303001 MpoKnaaka noa KoneHo 1 30 04060305002 MpoKknagka umamHgpa 1
10 040202003 KoneHo KapbtopaTtopa 1 31 | 040309003 MopwHesoe KonbLo 48 mm 2
11 040123001 Tennousonatop 1 32 16261161 CtonopHoe KonbLo 2
12 | 0404010402306 | bonT M5x14 1 33 | 040319004 Wati6a nansbua (8o 2021 r.) 10mm 2
13 | 0404010402306 | bonTt M5x14 3 33 | 040319003 Waiba nanbua (nocne 2021 r.) 11mm 2
14 040104119 KpblwWwKa umamHapa 1 36 | 030501017 KoneHsan 1
15 040130045 [aliKa KpenaeHUs KpbIWKK puabTpa 1 37 | 040405001 LLinoHka 3x10 1
16 | 040103107 KpbiluKa BO3AYLLIHOMO GUALTPA 1 | 38 | 04035402013 ';g;l'“:')"“”“ naeua 10x15x12,5 (a0 1
17 | 0404010402357 | Boat M5x20 2 | 38 | 04035402003 | [OAUMMHAK MOpUIHEBOTO NasbLa 1

11x15x12,5mm (nocne 2021 r.)




LaHAMPION:

Power & force MANIOCTPUPOBaHHbIN KaTanor 3anacHbIx YyacTel Mogens: 362
18 | 040147006 3arnywKa suma-neto 1 | 39 | 030501012 ;‘gz:‘?:‘; ';%“;:’:e)” 48 mm ¢ nazbuem
19 | 040124004 Bo3ayLWHbIN GUALTP 1 | 39 | 030501013 T;’;:‘::Z:::‘";g‘z‘;": )48 MM € TIAABREM
MpoknazKka noa BO34yLHbIN MopwHeBas rpynna 48 mm KOMnaeKT
50 | 040207203 POKNAKA oA BOSAY 1 030501016 P Py
bdunbTp (BKn. 8, 39)
21 040314001 Onopa Bo3ayLwwHoro ¢punbTpa 1




LaHAMPION:

Power & force MANIOCTPUPOBaHHbIN KaTanor 3anacHbIx YyacTel Mogens: 362
4 —_ N\
sl

\. J
Ne ApTUKYN HavmeHoBsaHwne K-Bo Ne ApTUKYN HavmeHoBaHwue K-eo
1 030501018 KpbliwKa wuHbI B cbope 1 15 040403025 Hanpasnsatowan nanbua 1
2 060103018 KpblIlWKa WKHbI 1 16 040403021 Brynka 2
3 0404010402206 | BuHT 4x8 5 17 040108047 Pyyka Topmosa 1
4 040606002 BokoBoW ancT 1 18 | 040120103 JononHUTENbHbIN TOPMO3HOW 1

pblyar
5 040118004 MnaHKa KpbILWKK WUHbI 1 19 | 04040203004 CronopHas wariba 1
6 040409403 Maneu, HaTAXKeHUA Lenwn 1 20 040612001 OrpaHununTenb 1
7 040409501 Beayuwian wectepHA HaTaAXUTeNA 1 21 040403023 Manew 1
uenu

8 040409303 BonT HaTAXUTEeNA Lenun 1 22 04100609003 Mpy*KMHA py4yKM TOPMO3a 1
9 04100606020 JleHTa Topmo3a 1 23 | 04040201003 LWariba 1
10 04100607004 [ononHuTenbHas npyxuHa 1 24 | 04040203001 CtonopHas waliba 1
11 04040401012 FalKa KPbILKW LWKHbI 2 25 040212001 BTynka pyyku Topmosa 1
12 040120003 OCHOBHOW TOPMO3HOM pblyar 1 26 040117003 KpbllWKa mexaHM3ma Topmo3a Lenu 1
13 04040203002 CronopHas wariba 1 27 040607001 Pblyar ocHOBHOWM NpyWHbI 1
14 040403009 Manew KpenneHUsa pyykmM TOpmosa 1 28 04100607003 OCHOBHaA NpYy»XMHA TOPMO3a 1




LaHAMPION:

Power & force

NNNoCTpMpOBaHHbIN KaTanor 3anacHbIX YacTemn

Moaenb: 362

vV

o

2

Ne ApTuKyn HavmeHoBaHue K-Bo Ne ApTUKYN HavmeHoBaHwue K-60
1 MpoBoA, BbIK/AOYEHWUA 3aXKMUTaHUA 1 18 04040106003 BuHT 4,8%x20 1
2 040504002 BbikntouyaTenb 3axkuraHma 1 19 | 040207003 YNnoTHUTENbHOE KO/bL,O 1
3 040215001 KpblWKa BbIKAOYaTeNA 1 20 | 040112005 Mpo6bka TonameHoro 6aka 1
4 040114001 3arnywKka amoptmsaTopa 2 21 040113001 [eprkatenb Npobku 1
5 04040107002 bonT KpenneHna amopTusatopa 2 22 | 040201401 3arnywka 1
6 030501019 Kopnyc TonameHoro 6aka 1 23 040122025 Pbiyar Bo34yLWIHOM 3aC/IOHKM 1
KOMNIEKT

7 040105046 Kopnyc TonaneHoro 6aka 1 24 | 040213005 YnnoTHeHue pblyara 1
8 040217001 YnnoTHeHuMe canyHa 1 25 | 04100610003 TAra rasa 1
9 YD3800-18010 CanyH ToniMBHOro 6aKa 1 26 | 040214005 Hanpasnsatowaa tarm 1
10 | 040201003 AmopTusaTop 2 27 | 04040106002 BuHT 4,8x16 4
11 04100611003 Mpy*MHa KypKa rasa 1 28 | 040318038 TpybyaTan pyKosaTKa 1
12 | 040127047 Kypok rasa 1 29 | 04040106002 BuHT 4,8x16 1
13 04010604 HaknagKa 3agHei pyKoaTKku 1 30 | 04100604001 AmopTusaTop 1
14 | 040126044 MpepoxpaHuTenb KypKa rasa 1 31 | 040133003 CeZi/10 NPYKUHBI 1
15 040403001 LUTndT KypKa rasa 1 32 | 040610001 OrpaHuymnTenb amopTmnsaTopa 1
16 | 040203209 LLnaHr TonAnBHbIN 1 33 | 0404010401114 | bonT M5x10 1
17 | 4007001201 PUNbTP TONAUBHbIN 1 34




LaHAMPION:

Power & force

NNNoCTpMpOBaHHbIN KaTanor 3anacHbIX YacTemn

Moaenb: 362

S pa?

6
2
7
Ne Ne K-Bo
ApTuKyn HavmeHoBsaHue K-Bo ApTUKYN HavmeHoBaHwue
1 040322026 KOXXyX Kpbl/Ib4aTKM MaxoBUKa 1 8 040109103 BapabaH cTapTepa 1
2 030501014 CrapTtep B cbope 1 9 04100601003 Bo3spaTtHasa npyxuHa 1
3 04040106002 BuHT 4,8x16 1 10 040206002 Hanpasnsatowan BUHTOB 1
KapbropaTopa
4 04040201002 Llanba 5x16x1,5 1 11 040102043 Pyuka ctaptepa 1
5 040117003 MnaTta NpyXuHbl 1 12 040101211 Kpbiwka crapTtepa 1
6 040109004 XpanoBukK cTtaptepa 1 13 0404010402306 | bonTt M5x14 4
7 04100602004 Mpy*KnHa xpanoBuKa 1 14




LaHAMPION:

Power & force

NNNoCTpMpOBaHHbIN KaTanor 3anacHbIX YacTemn

Moaenb: 362

3

Ne ApTUKYN HanmeHoBaHue K-Bo Ne ApTUKYAN HavmeHoBaHue K-so
1 060101003 JNleBas nonosmHa KapTepa 1 13 040501229 MarHeTto 1
2 040114103 3arnywKka amopTmsaTopa 2 14 | 040210001 3alUMTHbIV KOAMaYyoK 1
3 040201103 AMOpPTU3aTOP PE3MHOBBIN 2 15 | 04040207001 CTonopHoe KonbLo 1
4 04040106002 BuHT 4,8x16 2 16 03090010016 MoawmnnHUK KoneHsana 6202 1
5 5090021528 CanbHUK KoneHBana 15x28x4,5 1 17 | 040317001 LLTyuep MmnyabCHOro KaHana 1
6 040602001 KpblWKa canbHMKa 1 18 | 04100612005 XomyT WwnaHra 2
7 0404010402206 | bont M4x8 2 19 | 040205002 MMNYyNbCHBIW WNaHT 1
8 0404010402351 | BonT M5x25 5 20 | 040138001 3alUMTHbIM KeMOpPUK WnaHra 1
9 040502020 MaxoBuk 1 21 | 04060306003 Mpoknaaka KapTepa 1
10 | YD2500-92102 Maka M8 1 22 | 040206006 Haknapgka kaptepa 1
11 040207102 YNNoTHUTENbHOE KOAbLLO 1 23 040209001 3awmTa oT Nbian 1
12 040111006 Mpobka macnsaHoro 6aka 1 24 | 040201301 AMOPTM3aTOP NEBOM NONOBUHD!

KapTepa




LaHAMPION:

Power & force

NNNoCTpMpOBaHHbIN KaTanor 3anacHbIX YacTemn

Moaenb: 362

10
1 12
Ne ApTuKyn HavmeHoBsaHwne K-Bo Ne ApTUKYN HavmeHoBsaHue K-60
1 04070101089 MpaBaa nonoBMHa KapTepa 1 19 040139002 YnnoTtHeHne macnoHacoca 1
2 5090021535 CanbHUK KoneHBana 15x35x4,5 1 20 0404010402205 | bont M4x10 3
3 03090010016 MNoAwmnnHMK KoneHsana 6202 1 21 040116004 YepBak npnBoga macaoHacoca 1
4 04100612004 CTonopHoe KoANbLo canyHa 1 22 04035401003 MoawnnHuK 6apabaHa cuenneHun 1
5 040139001 ®dunbTp canyHa 1 23 1200002 3Be3gouyKa Beaywas 0,325" 1
6 040211001 KnanaH canyHa macnsiHoro 6aka 1 24 | 040304003 bapabaH cuenneHus 1
7 04040101004 LUInnabKa WuHbl 2 25 | 04040206003 3aWwmnTHan warba 1
8 0404010401114 | bont M5x10 2 26 040301008 CuenneHne KOMNAEKT 1
9 040604003 3ybyaTbiit ynop 1 27 KpectoBuHa 1
10 | 040118004 Hanpasnsatowasa uenu 1 28 LleHTpobeXHbIN rpy3nk 3
11 040605003 BokoBoW anct 1 29 MpyKMHa cuenneHma 1
12 | 0404010402205 | bonTt M4x10 1 30 | 040320001 MacnaHbiit dunbTp 1
13 04060301002 Mpoknazka nog 60KoBOW AUCT 1 31 040203103 BcacbiBaloWmMii MacAAHbIN WAAHT 1
14 | 0404010402306 | bont M5x14 1 32 040114103 3arnywKka amopTmusaTopa 1
15 040134005 Ynosutenb uenu 1 33 04040106002 BuHT 4,8x16 1
16 | 040203003 HanopHbI macnaHbIM WaaHr 1 34 | 040201103 AMoOpTU3aTOP PE3UHOBBIN 1
17 040315003 MacnoHacoc 1 35 040403017 LTnoT KapTtepa 3
18 040115007 KpbllWwKa macnoHacoca 1 36 040201201 AMOpPTM3aTOpP NPaBOI NOJOBUHbI 1

KapTepa







